
def bounded_linear_search(sequence, P):

found = False

i = 0

while not found and i < len(sequence) :

found = P(sequence[i])

i = i + 1

if found :
return i − 1

else

return −1
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Tbls(n) = a1 + a2(n + 1) + a3n + a4 +max(a5, a6)
= b0 + b1n



def binary_search(sequence, TO, item):

low = 0
high = len(sequence)
while high − low > 1 :

mid = (low + high) / 2
compar = TO(item, sequence[mid])
if compare < 0:

high = mid
elif compar > 0:

low = mid + 1

else:

low = mid
high = mid + 1

if low < high and TO(item, sequence[low]) == 0:

return low
else:

return −1
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Tbs(n) = c1 + c2(lg n + 1) + (c3 +max(c4, c5 + c6, c5 + c7)) lg n
+c8 +max(c9, c10)

= d0 + d1 lg n



def selection_sort(sequence, TO):

min_pos = i
for i in range(len(sequence)):

min = sequence[i]

for j in range(i + 1, len(sequence)):
if TO(sequence[j], min) < 0:

min = sequence[j]

min_pos = j
sequence[min_pos] = sequence[i]

sequence[i] = min
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Tsel(n) = f1 + f2n + f3n
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